=0
S0 A (LB ST/ UUIEE)
S 2l (Ctel:ze)
2A - HH - G(3) - HIRAY - BES Ofl At ol o HRz2
P 1,204,234 899,234 305,000
Z0 A (LIS ST/ LUIEEE) 1,034,853 731,853 303,000
S0 2l 231,253 228,253 3,000
Y40 FOUNINEH 29 18,060 15,060 3,000
401 AIEBIZL S008I 10,000 7,000 3,000
01 Al&H| 10,000 7,000 3,000
OFCIRXIME TA L 22[H| 10,000 7,000 3,000
—EA 9 || 213 10,000,000 10,000 7,000 3,000
A2 FRIEHAANY 803,600 503,600 300,000
A2 FOIEHAANY 803,600 503,600 300,000
401 Al EHIZL LY 803,600 503,600 300,000
01 Al&Hl 800,000 500,000 300,000
O==oll= AL 300,000 0 300,000
—SF&12] SIEUXZ 212 =2 HUISAt
300,000 *100m 30,000 0 30,000
—SH22| Lol 212 =2 FEHISAt
200, 0002 %100m 20,000 0 20,000
—SH32| gerz 212 =2 FHISAt
200,000 *100m 20,000 0 20,000
—S842| AFAS 212 =2 ZHISA
200,000 *100m 20,000 0 20,000
—gt12| LAHAHE 212 AIHZHISAL
300, 0002 %100m 30,000 0 30,000
—gr322| 902 212 =2 EHISA
200,000 *100m 20,000 0 20,000
—2E12| 20tz 212 =2 FHISAt
200,000 *100m 20,000 0 20,000
—ZbHe| Z2W3| 212 AHHEHISAL
200, 0002 %100m 20,000 0 20,000
—Za2e| OHKIE 212 =2 EHISAt
300,000 *100m 30,000 0 30,000
—Z4k32| Z0[=0ls2 212 Hi==2 FEHISAt
200,000 *100m 20,000 0 20,000
—&312] R= 212 == ZHIZA
300, 0002 %100m 30,000 0 30,000
—&=22| BHEHDOH 212 =2 EHISAt
200,000 *100m 20,000 0 20,000
—IXlel =olgjet o122 AFHEHISAL
200,000 *100m 20,000 0 20,000
HA2HAY| (&) (DIEH/IIE 169, 381 167,381 2,000
JlE23l 102,066 100,066 2,000
JlE23l 102,066 100,066 2,000
201 L2 3FH| 46,170 44,170 2,000
02 Z323H| 13,330 11,330 2,000
02323 2 HA 13,330 11,330 2,000
—&IILS(EHAD 23 10,400,0002 10,400 8,400 2,000




